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Vig m Vg m | Vom | FClpum | FCrmaim | ATm Tigm PHem | PSsm | PTCi n [BTCis s m|BTCi s n|BFCs 4. n| BEzm | BEgmm | APEn | PEzm ER,
t t t m m °c °c GJ/t t [=] [=] [=] FNm/[E| t-C02 | t-C02 | t-CO02 | t-CO2 | t-CO2
201345 48 4009 3735 274 24,457 9,174 9.7 70.6] 0.2955| 228.1 2,557 1,539 1,018| 0.00871 433 19.1 0.9 325 29.0
20134 58 4009 3735| 274 24,457 8,958 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00851 433 18.7 0.9 325 28.6
20134 68 4009 3735| 274 24,457 8,646 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00821 433 18.0 0.9 325 27.9
20135 78 4009 3735| 274 24,457 9,111 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00865 433 19.0 0.9 325 28.9
20134 8H 4009 3735| 274 24,457 8,080 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00768 433 16.8 0.9 325 26.7
20135 98 4009 3735| 274 24,457 7,931 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00753 433 16.5 0.9 325 26.4
20134 108 4009 3735| 274 24,457 8,024 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00762 433 16.7 0.9 325 26.6
20134 118 4009 3735| 274 24,457 7,714 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00733 433 16.1 0.9 325 26.0
20134 128 4009 3735| 274 24,457 8,181 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00777 433 17.1 0.9 325 27.0
2014 18 4009 3735| 274 24,457 8,351 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00793 433 17.4 0.9 325 2713
20145 28 4009 3735| 274 24,457 8,917 9.7 70.6| 0.2955| 228.1 2,557 1,539 1,018| 0.00847 433 18.6 0.9 325 285
20145 38 400.9| 3735| 274 24,457 9,127 9.7 70.6] 0.2955| 228.1 2,557 1,539 1,018] 0.00867 43.3 19.0 0.9 325 28.9
= 48108 4,482.1| 328.7 | 293,480 102,215 2,737 30682| 18470 12211 520.1 213.1 11.2 ] 390.1 331.9
1 4009 3735| 274 24,457 8,518 9.7 70.6 | 0.2955| 2281 2,557 0.00809 43 0.94 32.5 27.7
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